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Klíč správných řešení - Studijní dovednosti - varianta C

Úloha Správné řešení Body
1 d 1 bod
2 a 1 bod
3 b 1 bod
4 c 1 bod
5 a 1 bod

6.1 ano
4 x správně = 2 body      
3x správně = 1 bod        
ostatní = 0

6.2 ne
6.3 ano
6.4 ne
7 c 1 bod
8 a 1 bod
9 c 1 bod
10 c 1 bod

11.1 ne
4 x správně = 2 body      
3x správně = 1 bod        
ostatní = 0

11.2 ne
11.3 ano
11.4 ano
12 b 1 bod
13 a 1 bod

14.1 ne
4 x správně = 2 body      
3x správně = 1 bod        
ostatní = 0

14.2 ano
14.3 ano
14.4 ano
15 b 1 bod
16 c 1 bod
17 d 1 bod
18 d 1 bod
19 c 1 bod

20.1 ano
4 x správně = 2 body      
3x správně = 1 bod        
ostatní = 0

20.2 ne
20.3 ano
20.4 ano
21 c 1 bod
22 c 1 bod

23.1 ne
4 x správně = 2 body      
3x správně = 1 bod        
ostatní = 0

23.2 ne
23.3 ano
23.4 ne
24 d 1 bod

Celkem max. 29


	upravene pro tisk

